SAP ABAP table BCA US DEA ESCH {Escheat Accounts Data}

BCA US DEA ESCH-ACNUM INT = BKK40-ACNUM INT

—_——

—_——
—_
P

BCA US DEA ESCH-COUNTRY = T0O05-LAND1
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BKK40

o 0. N | MANDT [CLNT (3)]

BKKRS [CHAR (4)]

ACNUM_INT [CHAR (10)]

BUTO00O
0..N [ CLIENT [CLNT (3)]
PARTNER [CHAR (10)]

TOO0O
~0.N [MANDT [CLNT (3)]

TOO5
MANDT [CLNT (3)]
LAND1 [CHAR (3)]

TOO5S

_ _ _ | MANDT [CLNT (3)]
LAND1 [CHAR (3)]
BLAND [CHAR (3)]

TBCA_US_DEA_ADD

..N | MANDT [CLNT (3)]

ADD_CODE [CHAR (3)]

TBCA US DEA DEL
MANDT [CLNT (3)]
DEL_CODE [CHAR (3)]

TBKKO1
MANDT [CLNT (3)]
0..N [BKKRS [CHAR (4)]




